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                                                                      SECTION A 

 QI) Multiple choice questions                                                                                      (10Q X 1M = 10M) 

1) The smallest 4- digit numbers using digit only once 7,8,0,1 is  

a) 1087                      b) 1780                   c) 8710                        d) 1078  

2) Identify the subtrahend in the given number statement  

     3,17,440 – 1,44,269 = 1,73,171  

a) 1,73,171                b) 3,17,440              c) 1,44,269                   d) All of these  

3) Any number multiply by 1 the product is    

a) Number itself        b) 0                          c) 3                               d) 2  

4) 2 is the only prime number that is ___ 

a) Even                     b) odd                      c) composite                 d) None of these  

5) The fractions that have different denominators is called ____ 

a) Like fractions        b) Unlike fractions    c) Mixed Fraction       d) Unit fractions  

6) 
4

8
  +  

2

8
  = 

⬚

8
         

a) 6                             b) 8                           c) 4                               d) 7 

7) Length of Hockey ground can be measured in  

a) Millimeter             b) Kilometer             c) metres                      d) Centimetres  

8) 27000 ÷ 100 = 

a) 202                        b) 270                      c) 220                            d) 255 

9) 1m = _____ cm 

a) 1000                      b) 100                     c) 10                              d) 200 

10) Which property of addition shown here  

         399 + 0 =399   

a) Commutative property     b) Associative property        c) Multiplicative property     d) Additive 

identity property  

                                                       

                                                               SECTION B     

  QII Fill in the blanks                                                                                                (5Q X 1 M = 5M) 

1) The successor of 2,76,901 is ______ 

2) 0 ÷ 59 = _____ 

3) The number 999 is divisible by ____ 

4)  Compare (< , > = )   
4

5
         

3

5
 

5) The Roman Numerals for 80 is _____ 
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Q III. Match the following:                                                                                  (5Q X 1M = 5M) 

                              A                                                                       B 

1) 1 million                                                             a) 15 

2) Thickness of book                                              b) 8110 

3) 3789 + 4321                                                       c) VII   

4) 5th multiple of 3                                                d) cm 

5) Days in a week                                                   e) 10 lakhs  

                                                              

                                                             SECTION C  

QIV.Solve the following                                                                                            ( 5Q X 2 M  = 10 M)  

1) Subtract a) 634 – 302                   b) 920 – 489 

2) Write Quotient and Remainder  

a) 739 ÷ 20                                         b) 490 ÷ 40 

3) Any 2 even multiple of 6 and 8   

4) Compare (<, > =)  

a) 200 m ___ 2000 cm                       b) 508 mm ____53 cm  

5) Add  
2

3
  +  

1

4
   

 

                                                                         SECTION D 

     QV. Simplify                                                                                                                  (6Q X 3M = 18 M)  

1) Put proper commas for both Indian and International system  

a) 9998                         b) 5050555                      c) 37722 

2) Solve by using Associative property  

          535 ,348, 127 

3) Find the common factors of  

a) 6 and 18                       b) 4 and 28                       c) 56 and 72  

4) If the cost of one dress is ₹1250, What will be the cost of 46 such dresses? 

5) Arrange the following in Ascending orders  

a) 
2

3 
 , 

1

3
 , 

3

5
                         b) 

1

8
 , 

2

7
 , 

1

2
 

6) Convert the following  

a) 12 l 165 ml ______ml            b) 4500 ml ______L 

                                                                      

                                                                        SECTION E   

       QVI. Solve the following                                                                                            ( 3Q X 4M = 12M) 

1) From a sack of 26 kg 400 g of Rice, 12 kg was shifted to another bag. How much sugar is left in the 

sack?  

2) In a tree planting campaign school children planted 640 trees into 40 equal rows? How many trees did 

they plant in each row? 

3) There are 3011 students in the schools, the number of girls is 1498. How many boys are there in the 

school? 
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